Honors Algebra 2 Homework:
Pg. 187 #15-23 odd
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23. Let x represent the side length of the cut out square.
Then the side length ofthe bos i 10 — 2xand the
heightis x.

M10=29(10-29 = 48
(10x-20)(10- 20 = 48

4% = 40° 4 100x =48
4% — 402 4+ 100x - 48
Possible rationalfacors: 1, £2, 43, 4, £6, £8,

1 3
212,416, 424, 448, 21, 21 42 43
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306 = 6F +11x=6=0
Possile rational rools: 1, +2, 43, 6
A1 o6 11 -6

1 6

T =5 6 [0
(x=1)(E=5x+6)=0
(x=1)(x=2)(x=3)=0
“The solutions are 1, 2, and 3.
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(x=3)(4x" = 28x + 16) =0
4x=3) ¢ —7x+4)=0
Solve ¥’ = 7x+4=0

_7Vi5 16 _7+ V3
2 - 2

sxmax- 2y - 2=4)
The sidelengh should b rationalsyou must
cutoutas i by 3 n. square.
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32 x4l-12=0
(#-3)(¢+4)=0
Sove X -

2

N
The flly factored ecuation is:
(= V3)(x + V&) (x= 20 (xt 20 =0
The solutons are V3, and 421
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3. 54 13x-85
£+ 130 116
Possibl rational roots are:
1,42, 44, £20, £58, 2116
2410 1a-ie

4 16 16
T i ™
(x=a)(® +4x+29) =0
Sove 4 4x+20=0
HeVETE_ o,y

The ful faciored eqution s

(x=x= (=2 + 5)][x (=2 = 5)
The solutions are 4, and 2 = 51
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sweh
(x+3)(x+ 1)(x=1)
(¢ + ax+3)(x=1)
43 = x=3
Set volume equal to 105.
432 = x=3=105
A+ 38 = x= 108
Possible rational rools: £1, £2, £3, +4, £6, £9,
12, £18, +27, £36, £54, £108
4 1 3 -1-108
4 28 108

7 27 Lo
(x= )2+ 7x+27)
Solve X + 7x+27=0

o TiNIS T _ 1
- 2 - 2

The roots ae 4, and T N9, /59

‘The dimension must be a real number, take x = 4.
So the dimensions of the prism are.

(4 B)x+ 1)(x=1)

=7x5x3
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24. '~ 3 + 5 = 27x =36 =0
Possible rational roots:
1,2, 43, 44, 46, £0, £12, 18, 436

(=24 D(E+9) =0
Sohve ¥ +

“The fully factored equation is:
(= 4)(x+ 1)(x=3)(x+3) =0
The solutions are 4, -1, and +3i.
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15. 438 -9

(2= 9)(x+
(4 3= 3)(x+
X+320,x=320,0rx+
x=-3 x=3
The roots are 3, and 3.
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17.
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26. 8 +3¢ +3x+1=0
(et D+ D+ 1) =0
The sol
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28.6x° + 11 =3x=2=0

Posse ot o 31,42,

=26 11 -3 -2
-2 2 2
g
(x+2)(6 = x=1) =
(x+2)2x=1)(3x+1) =0





